Marital Status: [ Imarried or [Isingle #dependents 1
GWW(gross weekly wages used to establish TTD rate) _?

TTD RATE $

If TTD rate is at Max, call AWCB for SWW -see note at bottom of sheet -

SWW (spendable weekly wage) = GWW minus payroll taxes = TTd rate + 0.8

GWE (gross weekly earnings) = Post Injury earnings = hourly rate x hours worked

TPD or 41Kk orrser Worksheet

CLAIMANT:

AWCB#

1. SWW 2. Cap 3. Sww Cap Tpd rate 41k offset rate | Max. 41k offset rate Total
of GWW = Cap to rate table, for this claim: From Through Weeks | Days
Post-Injury GWE | -+ by .8 if greater than ttd min. | (#1 minus#3)x 0.8 | (#1minus #3) x 0.7 | (g rate — sww cap)
(ttdrate~.8) | (weekly earnings)

below ttd min, is the Sww Cap
if exactly min go to green pgs

(x cola)

(no cola on 41k)

Rates shown on rate table(s) below TTD Minimum are spendable weekly wages (SWW)

If the gross weekly wages support a ttd rate of exactly Minimum then apply the gross

weekly wages to supplement A (green pages) rate table. Amounts shown in (green pages) are SWW?s.
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